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 Question  Answer Marks AO Guidance 

8 (d)  None of the pulse rates are that unusual so 

should not be removed 

B1 2.2b LDS advantage 

 

Need ‘no/keep’ and reason 

 

Condone ‘No as they are not outliers’           

 

Accept ‘Higher pulse rates are not uncommon’                                                              

    [1]   

9 (a)  0.1 + 0.3 + 𝑞 + 2𝑞 + 3𝑞 = 1  M1 1.2 Setting sum of values equal to 1                                                             

   𝑞 = 0.1  A1 1.1  

    [2]   

9 (b)  (0.1 + 0.3 + 0.1 + 0.2 =)  0.7 B1 1.1 Or 1 − 𝑝(𝑋 = 5)                                                         

    [1]   

9 (c)  0.1 × 0.3 seen or 0.03 seen M1 1.1                                                            

   0.1 × 0.3 + 0.1 × 0.3 = 0.06 A1 1.1 0.06 o.e 
6

100
 or 

3

50
 etc 

    [2]   

9 (d)  0.098314…correct to 2 or more sf      BC B1 1.1 By using e.g 𝑋~𝐵(50,0.3) and finding 𝑃(𝑋 = 17)                                               

    [1]   

 

 

 




